
VALET MIXOLOGY CENTER

ASSEMBLY INSTRUCTIONS

VA-SF140

20171019



Assembly should be carried out by qualified professionals. Failure to 
correctly assemble furniture may result in collapsing or toppling, and may 
cause damage or injury.

All furniture pieces that are designed to lean against the wall must be 
securely fixed to the wall with the appropriate fixing devices provided. 
Please identify the type of wall, select the appropriate wall fitting and 
ensure sufficient holding power before installation. If uncertain, please 
seek professional advice.

No liability will be accepted for damage or injury caused by inappropriate 
use or incorrectly installed furniture.

SAFETY DISCLAIMER

ATTENTION

Identify all components before assembling. If any components are missing, 
please contact the dealer from whom you bought this product.

Select an appropriate location.

Place components on a soft surface to prevent damage during assembly. 

Ensure no components are disposed of when discarding packaging. 

Additional tools / power tools may be needed for installation.
Please seek professional advice. 
 
Periodically check all fixings to ensure none have come loose, and re-tighting 
when necessary.

Please keep these instructions for future reference.

__

__

__

__

__

__

__

1



HARDWARE LIST

H1 x 10
(M6 x 40)

H3 x 3
(M4 x 20)

H5 x 3 H6 x 1
(10mm)

C x 1

E x 1

B x 1D x 1

A x 1

F x 1

629 x 250 x 25mm

629 x 280 x 25mm

584 x 406 x 355mm

629 x 510 x 25mm

G x 1

H4 x 3
(M4 x 60)

     ø6ø12

     ø6 ø12

H7 x 3
(8 x 60mm)

H2 x 2
(M6 x 20)

2



STEP 1

H3

H5

F

C

X 3

3



STEP 2

C

D

E F

G

A

H6

H2

H6

H1 X 5

4



STEP 3

B

5



Please select appropriate wall �tting ! 

Wood Concrete and brick Dry wall

STEP 4

      

H4

H7

6



Do not climb !

15kg
MAX

15kg
MAX

15kg
MAX

15kg
MAX

7



stellarworks.com
info@stellarworks.com


